Al & 0l &8 A E MM

02249E =& 3 3 SENESELS
AN Aot=E0t
=4 500 BX3
2 1 510 =z NEX3E
g : 511 =0BAZS (el &)
2N -E-2-8.-5 il abed JlEA Hlws2
ES Al 14,975,038 16,306,219 /1,331,181
afok==E 1t 14,975,038 16,306,219 A1,331, 181
500 Ex=2 8,216,225 9,160,323 944,098
510 =NBEX2S 7,739,725 8,683,823 944,098
511 208%32S 7,739,725 8,683,823 944,098
511-01 2 1EXZ 3,128,380 3,325,000 196,620
Oszde a2t 3,128,380 3,325,000 196,620
0N SSot=HelAlE AEAS 421,000,000 421,000 621,000 200,000
OXZIIoH ol =XHAE OlHZA 13,380,0002 13,380 10,000 3,380
511-03 712 4,611,345 5,358,823 AT47,478
OHde az(YsL=H22DI3) 4,611,345 5,358,823 NTAT 478
021X+ St=2t2 ZHIAY 250,000,000 250,000 655,000 405,000
O& M B3dtHMelAlE AEAY o2l 0 192,000 192,000
OANIE BEB3tHelAld SEAY o2 0 57,000 A57,000
02X+ sHELSTIE SEAMY 02 0 90,000 290,000
O=FCIXIZAI AIEZS & DB2el 37,371,000 37,371 40,849 A3,478
700 28U SLUHEHAN 6,758,813 7,145,8% A387,083
710 B82S 1,347,693 1,344,192 3,501
712 EAL0IE3 55,299 51,798 3,501
712-01 2NEXSAISEH 55,299 51,798 3,501
O=218xZ2 ANSEH 55,299,000 55,299 51,798 3,501
720 LHEHeH 5,411,120 5,801,704 A390,584
721 M3 5,411,120 5,801,704 A390,584
721-03 JIEFSI AN S 5,411,120 5,801,704 A390,584
OLeta M3 5,411,120,0002 5,411,120 5,801,704 A390,584
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